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ÍÛæ̃ Û¶ÛÛ :  (1) Í Û ÛþùÛ  ï éõÅ Ûî ýÛäÅ Ûé¤øÁ õ ¶ÛÛé Š¸ Û ýÛ Ûé• Û ïõ Áõ à ÉÛï õÛ ÉÛé.  

   (2) þùÁ éõ ïõ  ¸ÛóÊ¶Û ¶ÛÛ  14 • Ûä̈ Û ™öé.  
 

1. (a) ’õ ¾Û ˜Û ýÛ …¶Ûé Í Û×̃ Û ýÛ ¶Û Ûé …¬Û Ù ÍÛ ¾Û ›Û ÈÛ Ûé. 3 

 (b) Ý ï õ¾Û© Û ÉÛÛéµ Û Ûé ƒ 6P2, 7C2, 4!, 1000C998. 4 

 (c) Í Û ¾Û à ïõÁ õ¨ Û Šïéõ Å ÛÛé nP2 = 56. 7 

           …¬ÛÈÛÛ 
 (a) Ü ÈÛ µÛ éýÛ ¶Û Û ¸Ûóï õ ÛÁ õ ÍÛ ¾Û› ÛÈ ÛÛé. 3 

 (b) f(x) = 
x

3 + 1

x + 1
, ©Û Ûé f(1), f(2), f(3) •Û ¨Û Ûé.  4 

 (c) Å Û“ Û ¾Û éÇ ÈÛÛé :  7 

   (i) lim
x → 3

 
x

2 – 9

x – 3
 

   (ii) lim
x → 2

 
x

2 + x + 1

2x + 3
 

 

2. (a) Í Û ¾Û ›Û ÈÛ Ûé :  3 

   (i) ýÛ ´ù˜™ö  ¸ÛóýÛ Ûé• Û   

   (ii) ýÛ Ûé• Û  –Û ¤ø¶ÛÛ   

 (b) ¼Û é ¸ ÛÛ Í ÛÛ  Š™öÛ ÇÈ ÛÛ ¶Û Û  ¸ ÛóýÛ Ûé• Û ¾Û Û× ¼Û ×¶Ûé ¸ Û Áõ  ¾Û Ç© ÛÛ  …×ï õ Ûé¶ÛÛ é Í ÛÁ õÈ ÛÛÇ Ûé ¶Û à ˜Ûé ¸ Ûó¾Û Û ¨Ûé ¬Û Û ýÛ  ©Û é¶Ûà  
Í Û×½Û ÛÈ Û ¶Û Û ÉÛÛéµ Û Ûé : 4 

   (i) 5                (ii)    10 ¬Ûà  È Ûµ Ûä  

 (c) P(A) = 0.6, P(B) = 0.3, P(A ∩ B) = 0.2 Ðü ÛéýÛ , © ÛÛé (i) P(A ∪ B) (ii) P





B

A
 ÉÛ Ûéµ ÛÛé. 7 

            …¬ÛÈÛÛ 
 (a) Í Û×½Û ÛÈ Û ¶Û Û ¶ÛÛ  ª Û¨ Û Ü ¶Û ýÛ ¾Û Å Û ”ÛÛ é. 3 

 (b) ª Û¨ Û ÜÍ Û ‘õ Û Š™öÛ ÇÈ ÛÛ ¶Û Û ¸ÛóýÛ Ûé• Û ¶ÛÛé Ü ¶ÛþùÉÛ ÛÙÈ Û ïõÛ ÉÛ  ÅÛ ”ÛÛé. 4 

 (c) 52 ¸ Û Û ¶Û ¶Ûà  › Ûé¦ ø¾Û Û×¬Û à ¼Ûé ¸ ÛÛ ¶ÛÛ  Å ÛéÈ ÛÛ ¾ÛÛ× …Û ÈÛé . ¼Û é ¸ ÛÛ ¶Û Û ¶Û à˜Ûé ¸ Ûó¾Û Û¨ Ûé Ð üÛéýÛ  ©Û é¶Ûà  ÍÛ×½Û Û ÈÛ ¶Û Û 
ÉÛ Ûéµ Û Ûé :  

   (i) ¼Û ×¶Ûé Á õÛ ¨Ûà   

   (ii) ¼Û ×¶Ûé Å ÛÛÅ Û  7 
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3. (a) …¸ Ûé“ ÛÛ ¶ÛÛ ªÛ ¨Û  Ü ¶Û ýÛ ¾Û Ûé ÅÛ ”Û Ûé. 3 

  (b) ¼Û é ¸Û ÛÍ ÛÛ  …éï õ ÍÛÛ ¬Ûé Š™öÛ ÇÈ ÛÛ ¶ÛÛ ¸Û óýÛÛ é• Û¾ÛÛ× ¾Û Ç©Û Û ¶Û×¼Û Áõ ¶ÛÛ ÍÛ Áõ ÈÛ ÛÇÛ ¶Ûä× …¸ÛéÜ “ Û© Û ¾ÛæÅ ýÛ  • Û¨ ÛÛé. 4 

  (c) E(x) …¶Ûé V(x)  • Û¨ ÛÛé ƒ 7 

x 0 1 2 3 

f(x) 0.1 0.4 0.4 0.1 

               …¬ÛÈÛÛ 

 (a) …¸ Ûé“ ÛÛ ¶Ûà È ýÛ Û ”ýÛ Û ÅÛ ”Û Ûé. 3 

 (b) › Ûé E(x) = 4 …¶Ûé E(x2) = 25, © ÛÛé V(x) ÉÛ Ûéµ ÛÛé.  4 

 (c) › Ûé E(x) = 3 …¶Ûé E(x2) = 25 Ðü ÛéýÛ , ©ÛÛé E(2x + 3) …¶Ûé V(2x + 3) ÉÛ Ûéµ ÛÛé.  7 

 

4. (a) ¸ Ûó–Û Û ©Û Ûé ÍÛ ¾Û›Û ÈÛ Ûé. 7 

 (b) β1 …¶Ûé β2 •Û ¨ÛÛé.  7 

x 0 1 2 3 4 

f 1 2 4 2 1 

                                        …¬ÛÈÛÛ 

 (a) Í Û Ûþùà  …¶Ûé ïéõ Ü ¶® ùýÛ  ¸Ûó–Û Û ©ÛÛ é ÈÛ ˜˜Ûé¶Û Û  Í Û×¼Û ×µ ÛÛé Å Û”ÛÛé. 7 

  (b) 3, 4, 5, 6 …¶Ûé 7 …ÈÛ ÅÛ Ûéï õ ¶Û Ûé ¾Û Û ¤éø β1 …¶Ûé β2 ÉÛ Ûéµ ÛÛ é.  7 

 

5. ”Û ÛÅ Ûà › ÷• ýÛÛ  ¸ÛæÁ õÛé ƒ ( þùÁ éõ ïõ ¶ÛÛé …éïõ •Ûä̈ Û )  14 

 (1) 4C2 = _______ ¬ÛÛ ýÛ . (2, 4, 6) 

 (2) 5! = _______ ¬ÛÛ ýÛ . (24, 120, 5) 

 (3) lim
x → 2

 (x + 1) = _______ ¬Û Û ýÛ . (2, 3, 4) 

 (4) f(x) = 2x
2 + 1 © ÛÛé f(1) = _______ ¬ÛÛ ýÛ . (3, 4, 5) 

 (5) f(x) = x3 + 1 © ÛÛé f(–1) = _______ ¬ÛÛ ýÛ . (1, –1, 0) 

 (6) P(A) = 0.3, P(B) = 0.4, © ÛÛé P(A ∪ B) = _______ ¬ÛÛýÛ . (0.3, 0.12, 0.7) 

 (7) ª Û¨ Û ÜÍ Û ‘õ Û …éï õ ÍÛ Û ¬Ûé Š™ö ÛÇ ©ÛÛ  P(HHH) = _______ ¬Û Û ýÛ . 






1

2
, 
1

4
, 
1

8
  

 (8) E(x) = 2, E(x2) = 6, ©ÛÛ é V(x) = _______ (2, 6, 8) 

 (9) › Ûé nP2 = 6, © ÛÛé n = _______ (3, 2, 6) 

 (10) › Ûé nC2 = 21, ©Û Ûé n = _______. (2, 21, 7) 

 (11) › Ûé µ '
1
 = 2, µ '

2
 = 6, ©Û Ûé µ2 = _______ (2, 4, 6) 

 (12) P(A) = 0.4, P(A ∩ B) = 0.2, ©Û Ûé P





B

A
 = _______ (0.2, 0.4, 0.5) 

 (13) ¼Û é ÜÍ Û ‘õ Û …éï õ ÍÛ Û ¬Ûé Š™ö ÛÇ ©ÛÛ × P(HH) = _______. 






1

2
, 
1

4
, 
1

8
  

 (14) n! = 120, © ÛÛé n = _______ (4, 5, 6)       

____________ 
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Instructions : (1) One can use simple calculator. 

   (2) Each question carries 14 marks. 

 

1. (a) Explain meaning of permutation and combination. 3 

 (b) Find value 6P2, 7C2, 4!, 1000C998. 4 

 (c) Solve equation nP2 = 56. 7 

           OR 

 (a) Explain types of Functions. 3 

 (b) f(x) = 
x

3 + 1

x + 1
 find f(1), f(2), f(3). 4 

 (c) Find limit :  7 

   (i) lim
x → 3

 
x

2 – 9

x – 3
 

   (ii) lim
x → 2

 
x

2 + x + 1

2x + 3
 

 

2. (a) Explain :  3 

   (i) Random experiments 

   (ii) Union of two events 

 (b) Two dice are thrown. Find probability of sum of two numbers are follows : 4 

   (i) 5 

   (ii) More than 10 

 (c) P(A) = 0.6, P(B) = 0.3, P(A ∩ B) = 0.2 Find 7 

   (i) P(A ∪ B) 

   (ii) P





B

A
  

            OR 

 (a) Write three rules of probability. 3 

 (b) Write sample space when three coins are tossed. 4 

 (c) Two cards are drawn from pack of 52 cards. Find prob. that both cards are 

   (i) Queens 

   (ii) Hearts 7 
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3. (a) Write three rules of expectation. 3 

 (b) Find expected value of sum of two numbers when two dice are thrown 

simultaneously. 4 

  (c) Find E(x) and V(x)  7 

x 0 1 2 3 

f(x) 0.1 0.4 0.4 0.1 

               OR 

 (a) Write definition of expectation. 3 

 (b) If E(x) = 4 and E(x2) = 25 find V(x). 4 

 (c) Find E(2x + 3) and V(2x + 3) if E(x) = 3 and E(x2) = 25. 7 
 

4. (a) Explain moments. 7 

 (b) Find β1 and β2 7 

x 0 1 2 3 4 

f 1 2 4 2 1 

                                        OR 

 (a) Write relation between raw and central moments. 7 

  (b) Find β1 and β2 for observations 3, 4, 5, 6 and 7. 7 

 

5. Fill in the blanks (one mark of each) 14 

 (1) 4C2 = _______ (2, 4, 6) 

 (2) 5! = _______ (24, 120, 5) 

 (3) lim
x → 2

 (x + 1) = _______ (2, 3, 4) 

 (4) f(x) = 2x
2 + 1 then f(1) = _______ (3, 4, 5) 

 (5) f(x) = x3 + 1 then f(–1) = _______ (1, –1, 0) 

 (6) P(A) = 0.3, P(B) = 0.4 then  P(A ∪ B) = _______ (0.3, 0.12, 0.7) 

 (7) Tossing of three coins P(HHH) = _______ 






1

2
, 
1

4
, 
1

8
  

 (8) E(x) = 2, E(x2) = 6, then V(x) = _______ (2, 6, 8) 

 (9) If nP2 = 6, then n = _______ (3, 2, 6) 

 (10) If nC2 = 21, then n = _______. (2, 21, 7) 

 (11) If µ '
1
 = 2, µ '

2
 = 6, then µ2 = _______ (2, 4, 6) 

 (12) P(A) = 0.4, P(A ∩ B) = 0.2, P





B

A
 = _______ (0.2, 0.4, 0.5) 

 (13) Tossing of two coins P(HH) = _______. 






1

2
, 
1

4
, 
1

8
  

 (14) n! = 120 then n = _______ (4, 5, 6)       

____________ 


